CFN-1
CERTIFICATE IN FOOD AND NUTRITION (CFNOL) / TSI 37
TIYOT T THTOT-U hiishy (HY. Th. TH. 310, UA.)
YOU AND YOUR FOOD / 319 T 3T HISH
Time: 1 : 30 Hours
Maximum Marks: 50
Note: There are 50 Multiple Choice Questions (MCQ) in the paper. Each question
has four options. Tick the correct option. Each question carries 1 mark. / S99 §
50 ST Ye (TH. HT. F) €| Teeh T H =R foehetd &) Te foshed W sk ot
g ARy Ik U9 1 31k 1 2
1. Physiological factor which influences our food selection is: / TR Tk S
THN WIST o =I5 ol T LT 2
A) Climate / SIeTaTy
B) Economics / 313

C) Education / f3rear
D) Hunger / ¥9

2. Nutrients present in our food includes: / TN SIS | IUTRYd ISk dcd &
1) Carbohydrate / FIHTETZSS

1) Proteins / T4

I1T) Fats / 94T

IV) Additives / ufsfesq

V) Preservatives / i&Teh

Choose the correct answer from the options given below: / EIE R RIDACEI R )
el I ?\LﬁQ:

A)Lland V/L I 3RV

B) L, Il and 111 / I, 11 3T 111

C) IL, Il and IV / 11, 111 3R IV
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D) 1L, IV and V / IIL, IV 3RV

3. Which one of the following nutrients act as a cushion to important organs in

our body? / FFIfTRET H & 141 TIYUT Tedl BHN IR H Heeaqul 3T oh Tefq Teh 7T
% &Y T 1 LT 27

A) Carbohydrate/ waﬁ'e’lséz

B) Fat / 991

C) Protein/ T

D) Minerals / ICIEE]

4. Match List-I with List-I: / G=fi-I 3T g=i1-11 # faet shifsi;

o

List-1 /%=1 List I / F=A-11
(Food) / (M) (Energy value) / (311
<)
a) 15 gm of carbohydrate / 15 UTH HTATRTESE i) 45 kcal / 45 Terettehatry
b) 5 gram of fat / 5 TTH I ii) 40 keal / 40 foretioheTit
¢) 10 gm of protein / 10 T I iii) 60 kcal / 60 foheTiohetil
d) 20 gm of carbohydrate / 20 TTH FHIEEESS iv) 55 keal / 55 Toretiohetiy
v) 80 kcal / 80 fohettehetiY
Choose the correct answer from the options given below: / 1= fer fashedt o @ &gt
Wflﬁl@:

A) a-iii, b-i, c-iv, d-ii
B) a-iii, b-i, c-ii, d-v
C) a-i, b-iv, c-ii, d-iii

D) a-i1, b-111, c-1v, d-i

5. Which of the following mineral helps in the formation of blood clot? /
frferfad o & so-ar @S W o ek o f3mior § geTeres 8iaT 82
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A) Sodium / @ifeam
B) Calcium / Ffesrad
C) Iron / & acdl
D) lodine / IRNEH

6. Which of the following nutrients are required for growth and development? /
g wet fershrer o forw fFreforfiaa & & -8 Tk dear sTTawe 292

I) Proteins / FIEAE]

IT) Minerals / [CIES]

IIT) Carbohydrates / 37@313%?

IV) Water / 9Tt

V) Fibre / &1

Choose the correct answer from the options given below: / EICRECRIDACEI R )
il I %\Lﬁ'Q:

A) LIland IV/1, 11 3RV

B) I, Il and 111/ I, 1T 3R 111

C) I, Il and IV /11, 111 3R IV

D) IIL IV and V /IIL, IV 3R V

7. Which of the following conditions are linked to the deficiency of fat soluble
vitamins? / FrefaRad 5 & w6t Rafa o 4 gormeiia foerfi 6w & 2 g 2
1) Hemorrhages / 1S

11) Beri-beri / sR-si1

IIT) Scurvy / &l

IV) Rickets / m}f

V) Nightblindness / Taieft

Choose the correct answer from the options given below: EIEREORIDRCE TG Rk
el 3 El\_)ﬁQ:

A) LITand V/I, I 3RV
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B) I, Il and V /I, Il 3R V
C) IL, I and IV / II, 11T 3R IV
D) LIVand V/I, IV 3RV

8. Given below are two statements: / = &1 & f T &;

Statement I : Todine is important component of insulin hormone. / sp¥--1 :
ATAEH I ST b1 HEEI0! H o

Statement II : Sea-foods are rich source of iodine in our diet. / sh¥-11 : ‘él'ﬂﬁf@lw

gard SHN AR | ST i =37 9l 2

In light of the above statements, choose the most appropriate answer from the
options given below: / 3TYer ST o SehIRT H 1= T ferehicdi # & Heil ST I

e
A) Both statement I and statement II are incorrect. / sh¥ | 3R e 11 ST T 2|
B) Both statement I and statement II are incorrect. / shed | 3T A 11 SHT TTeTd 2
C) Statement I is correct but statement 1I is incorrect. / Y= [ €&l H W EERI
T B

D) Statement I is incorrect but statement II is correct. / oY [ Tedd ] %thf ERERI

T 2l

9. Match List-I with List-II: / @=i-1 1 g=ft-11 & fHetr hifs;

List-I/ gefl-1 List-IT / F=A-11
(Methods of food preparation) / (Description) /
(T veTef ht Uk § Ut ohi fafem) S
a) Pounding / T i) Removing skin / f&cteh &1 g
b) Grinding / 9TEAT i1) Crushing food to flatten / €Tl ueTef ST TUeT AT
¢) Mixing / T ii1) Reducing food to very fine form / T Ut i HEH o §
dreT
d) Peeling / BT iv) Ingredients blended together / GTHIT sl weh @er Tafsra s

v) Removal of undesirable components / SIS FZehi ol G
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Choose the correct answer from the options given below: / EIERECRIDACEI R )
el I ﬂﬁQ:
A) a-iii, b-1, c-iv, d-ii
B) a-iii, b-ii, c-1i, d-v
C) a-i, b-iv, c-ii, d-iii

D) a-11, b-11i, c-1v, d-1

10. Given below are two statements: / ==l & &I {3 T &:

Statement | : We should take 7-8 glasses of water daily. / I 1 : Y gfdfaT 7-8
firere gt T =Ry

Statement II : Water prevents dehydration. / &9 I : U= fSiciietor ol Tehd 2
In light of the above statements, choose the most appropriate answer from the
options given below: /m@maﬁ%mﬁﬁﬁﬁﬁwﬁﬁﬁwww
afie;

A) Both statement I and statement II are correct. / FUT [ 37 & 11 ST T2 2
B) Both statement I and statement II are incorrect. / e [ 3R &Y [1 ST TTeAd &
C) Statement I is correct but statement II is incorrect. / Y= [ €&l & Sifeh U 11
T

D) Statement I is incorrect but statement II is correct. / o [ TTedd 2 AR e 11

g 2l

11. Match List-I with List-IT: / =fi-1 3T G=i1-11 & et shifsie;

List-I/ gefi-1 List-IT / =11
(Property of sugar) / (WEH‘;I'UT) (Preparation) / (S4sI)
a) Highly soluble / 3Tcfereh et i) Candies / &
b) Inversion / foadta foram i1) Biscuit / %Rgﬂ
¢) Crystal formation on cooling / 38T A W 3 M T ii1) Jam / S
d) As preservative / Gt&Tsh FETH iv) Halwa / 14T

v) Squashes | EFTT
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Choose the correct answer from the options given below: / EIERECRIDACEI R )
el I ﬂﬁq:
A) a-iii, b-1, c-iv, d-ii
B) a-iii, b-1, c-ii, d-v
C) a-iv, b-iii, c-i, d-v

D) a-11, b-11i, c-1v, d-1

12. Fats and oils belongs to which food group? / €T 3R act foher @ a1z g
Heiferd 82

A) Energy giving foods / Ssil & el @I 4eTd

B) Body-building foods / SRR-FHTT aTet @Ter gared

C) Protective foods / GL&TcHS CIB R ]

D) Preserved foods / Exfere e uaTef

13. Which of the following are B vitamin? / f=faRga & @ s-o1 & faerfim 22
I) Thiamine / AT
IT) Ascorbic acid / UEehifoleh UfEE

111) Riboflavin / TEaTifer
IV) Niacin / f=mfem

V) 7-Dehydrocholesterol / 7-SIeTEg I Iield

Choose the correct answer the options given below: / i fou T fashedt ° @ wEl
Wflﬁl@:

A) LIland V/1, I ARV

B) I Il and IV /L Il AR IV

C) II, T and IV /11, 111 ARV

D) IIL IV and V/IIL, IV 3RV
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14. Jaggery is rich source of: /T foheeh] THS Hid 22

A) Iron /&l

B) Calcium / Shfcsrm
C) lodine / ITAEH
D) Zinc / S

15. A vegetarian diet will be nutritionally adequate if it contains: / JTTER] SISE
TS &9 | T BN, i< FHH 2T 2

1) Preserved foods like jams / SIH & Gifeqd @I qeTd

IT) Energy giving foods like cereals / TS ST Felt o ATl @I yerd

111) Body-building foods like pulses / TeT S IRR-HTT aTet @ gared

IV) Convenience foods like canned pineapple / TesaTaig 31 =T4 éﬁg}w LCIB)
qaref

V) Protective foods like fruits and vegetables / el T Tfesrt < GLaTcHh Wi
ot

Choose the correct answer from the options given below: / T fou T foreheai & &
il I %\Lﬁ'Q:

A)Lland V/L I 3RV

B) L Il and 111 / I, 1T 3T 111

C)IL [l and V /11, Il RV

D) IIL IV and V /1L, IV 3R V

16. A convenient method to increase nutrient content of foods is: / @l YTt o
e call ol AT bl TG o 7T Toh GfTeTSeh AT

A) Pounding / T

B) Grinding / 9T

C) Roasting / {1

D) Fermentation / @HIIRUT
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17. Milk is deficient in which nutrient? / &1 H fehe dTeeh el 2l <+l Erell 2
A) Iron / SAT&T
B) Calcium / Sfesrad
C) Zinc / NI
D) Phosphorus / BEGHRE

18. Protein quality of cereals can be improved by consuming cereals with: /
TSI 2l ST OIS H G T o foTT SIS oh @1 Hel LT =g

I) Vegetables / Gfesrat

I1) Fruits / %t

I11) Pulses / T

IV) Milk / <&

V) Egg / 3T€T

Choose the correct answer from the options given below: / fi=r fou T farsredi &
gl I %\Lﬁ'Q:

A)Lland V/L I 3RV

B)L, land IV /1, 11 R IV

C)IL, Il and IV /11, I 3R IV

D) 1L, IV and V / IIL, IV 3RV

19. Given below are two statements: / = g & o 7 &;

Statement | : Process in which food is dipped in boiling water for 5 seconds is
known as blanching. / e [ : T8 Ifsram & IS &1 IacTd O | 5 Tohe o oI
SSI191 ST @, I SAlTeTT o &9 H ST S 8

Statement II : Peel of various fruits and vegetables are difficult to remove by this
process. / I 11 ; 38 Tishar & falir= wett qut afestan o feteh et Fia 2

In light of the above statements, choose the most appropriate answer from the
options given below: / UYed ST 6 Tehre # =l fo forercdi | & Herdl Iwer ST

HT;

)
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A) Both statement I and statement II are correct and statement II is correct
explanation for statement I. / sh | 3 Y [ ST T8 & TR FHA I, FAT [
for w2t TRt 2
B) Both statement I and statement II are correct and statement II is not correct
explanation for statement I. / sh | 3T Y [1 ST T&T & TR FHA I, FAT [
o ot Toedientor e 21
C) Statement I is correct but statement II is incorrect. / ¥ [ Tl 2 AR U 11
T 2
D) Statement I 1s incorrect but statement II is correct. / ¥ [ TeAd 2 AR I 11

g 2l

20. Match List-I with List-II: / §=Ai-1 3T g=-11 § fiet shifsi;

List-I/ -1 List-11 / G=f-11
(Fats and Oils) / (dH1 3R élcfl) (Fatty acid source) / (ﬁﬁ@’s’%‘&ﬁﬁ)
a) Cocouont / AT 1) Linolenic acid ARNEINIEERE )
b) Mustard / L&t ii) Saturated / Fqed
¢) Sunflower / FLTE! iii) MUFA / TH. I, T%. T,
d) Olive Oil / SIqT T 0 iv) Linoleic acid / ferieftes 3mt

v) Trans fat / 219 3TFA
Choose the correct answer from the options given below: /T T T faseai T g
el I ?\LﬁQ:
A) a-iii, b-1, c-1v, d-ii
B) a-iii, b-1, c-ii, d-v
C) a-i, b-1v, c-iii, d-v

D) a-11, b-1, c-1v, d-1ii
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21. Which of the following is used for coating fruits like apples, apricots for
preservation? | GTferd o o qu Q@I, {%GIH“I éﬁ%ﬁﬁ@%%ﬁﬁﬂ%’%ﬁﬁ
O ferereRT SU=T fofam STraT 27
A) Vinegar/ Tt
B) Wax / AH
C) Lemon juice / :ﬂq\w o
D) Benzoic acid / SiSTIgeh 3TF

22. Process in which food is crushed-flattened to reduce its thickness for easier

cooking is known as........... / it fSaw TSt ol A/ O U o fora 3T
HISTS hl ¥ i o AT 9T foRITSITAT R, oo o B9 H STHT ST 2

A) Grinding / 9T&T

B) Peeling / BT

C) Pounding / 3T

D) Cutting / 1T

23. Which of the following substances are safe for cleaning utensils? /- |1
) 35 Fere Freaferfiar 3 & - vy el 27

I) Soap / AT

IT) Detergents / feestue

[T) Ash /U9

IV) Soil / gl

V) Alcohol / W%VW’T

Choose the correct answer from the options given below: /T T T faseai T g
el I ?\LﬁQ:

A) LIand IV /1, III AR IV

B) L Il and 111 / I, IT 3T 111

C)IL Il and IV / 11, 111 3R IV

D) IIL, IV and V / IIL, IV 3IR V
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24. Given below are two statements: /== g & o T €:
Statement I : Idli and kulcha are parched cereal preparation. / R I : S8t T
ST STTSI ! 9 L IR foRd ST 8
Statement II : Parching is done by roasting grains in a hot pan containing heated

sand. / AT ffer 7 70 X aret 7 U H TR BT TS b 97 STl 2

In light of the above statements, choose the most appropriate answer from the
options given below: / STYe ST o SehIRT H i< T ferehicdi # & Hei U I

e
A) Both statement I and statement II are correct. / s | 3R FHUF 11 ST Tt 2
B) Both statement I and statement II are incorrect. / sh¥ | TR YA 11 ST TTeAd 2
C) Statement I 1s correct but statement II 1 incorrect. / shd I el © Aok e 11
T B

D) Statement I is incorrect but statement II is correct. / ¥ [ TTedd 2 AR e 11

T 2l

25. When sugar crystals are bound together into a solid mass, it is called ........... /

ST <fi+1 o TsheeeT Ueh 319 S99 | Teh 91 514 Bid &, a1 S8 haT STTAT @ e
A) Sugar cubes /Eﬂﬁ?ﬁﬁ%ﬁ

B) Granulated sugar / SHER ST

C) Icing sugar / TSR L aredt <A

D) Powdered sugar / IS =T

26. Unprocessed and unhygienic milk can cause diseases like: / STEATIYT 3T
STEATEHHL T8 i | Sfrieat e et € S

I) Scurvy / ¥hai

11) Beri-beri / sR-si1

111) Diptheria / fecefifen

IV) Typhoid / ZII%IgS

V) Cholera / Sl
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Choose the correct answer from the options given below: EEREORIDRCE It R
H%&Wiﬁq:
A)Land IV /L I 3RV
B)LIland V/L, I 3RV
C)II, I and IV /11, 11T ARV
D) IIL, IV and V / IIL, IV 3R V

27. Besan is prepared from which of the following pulse? / Sod feAfafaa g @
forer aTeT & I foRarT T 22

A) Black gram / 3% qTcT

B) Bengal gram / =T aTcd

C) Green gram /IETEWT

D) Horse gram /@'_vﬁﬁa'lﬁ

28. Which of the following pulse can be used as milk feed for children allergic to
cow’s milk? /%maﬁ%ﬁmézagﬁwaﬁﬁaﬁﬁﬁmmwmnag%
&Y T foRaT ST HehaT 27

A) Green gram /IETE'IFT

B) Red gram / 31L& 1A

C) Bengal gram / =T aTeA
D) Soybean / AT

29. Which of the following practice should be adopted for preventing rancidity in
fats and oils? / TET AAT AAT okl TS B H Uk o foTu FHHTeaRad | & forerent utei
[ERISIEIEC]FW,

I) Fry potatoes in the oil before storage / W@R’Wﬁtﬁ SN ‘Hﬁ

IT) Keep container open / %‘%‘I’(E@WT@

[IT) Strain fat after frying / deT o §1¢ 98T &l S o

IV) Reheat oil till smoking point / %g3ﬁ 3T Tk ot ohl TR & T Rl
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V) Store fats in closed container / 5§ =X T I@T ol TR L
Choose the correct answer from the options given below: / EIERECRIDACEI R )
el I ﬂﬁQ:
A)Lland V/L I 3RV
B) I, 1T and III /1, IT 3R III
O)IL Il and IV /11, III ARV
D) IIL IV and V /1L, IV 3R V

30, e, millet is commonly consumed in Gujarat and Madhya Pradesh. /
.............. TIET SIS SATAAR TR TS S W TowT & QT ST 8

A) Maize / HekehT

B) Ragi / Tt

C) Kodri / et

D) Bajra / TSI

31 is important in giving texture to wheat products. /ﬁ%:a? 3cqTal

A) Glucose /‘FI@GT
B) Gluten /‘Eﬁ?
C) Dextrin / Sforag

D) Amylose / QTI'IS?IT?T

32. Which of the following are used as chemical preservatives for preserving

foods? / T YT o GL&I0T ok foru feaferiiad & @ foreent Suaii Tt afiwerent
% &9 T STTar 27

I) Gamma rays / TTHT [ETUI

11) Sodium benzoate / TfSIT ST

[IT) Calcium propionate / Ficsad M-

IV) Sulphur dioxide / G SEHATFES
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V) Castor oil / St FTaed
Choose the correct answer from the options given below: /= fgu T fosreai B
el I ﬂﬁQ:
A)LIland V/ 1, I 3RV
B) L, Il and 111 / I, 11 3T 111
C) IL, Il and TV / 11, IIT 3R IV
D) IIL IV and V /1L, IV 3R V

33. Which one of the following is a cheaper food among the nuts and oilseeds? /
frferfaa & @ sn-ar fafir= Aat qer foaeredt & a&ar 82

A) Walnut / 3G

B) Cashewnut / =hIS]
C) Almond / <lle™

D) Groundnut /IETCh_c'ﬁ

34. Given below are two statements: / =< &I HI ﬁ:@ ™ E:

Statement [ : Paneer contains the proteins, fat and Vitamin A present in milk. /
T 1 OHCH g8 o wvft S, e ot o ¢ gl €

Statement II : Paneer is prepared by bacteria which converts lactose into lactic
acid. /SR 11 : TR ST ST qA ToRdT SITAT & ST <idrelst ol 376 H aR@Efdd
AT 2

In light of the above statements, choose the most appropriate answer from the
options given below: / STYerd ST o FehIRT H i< T ferehicdi # & Heil U I

RIELE

A) Both statement I and Statement II are correct. / Y | 3T e 11 ST T2 &l
B) Both statement I and statement II are incorrect. / ¥ | 3R Y 11 ST 7T g
C) Statement I is correct but statement II i incorrect. / ¥ [ €&l & Sl e 11

T 2
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D) Statement I is incorrect but statement II is correct. / oY [ TTedd 2 SR e 11

g 2l

35. Which of the following are prepared from milk? / F=fiRaa o @ GhAH-HTE{ﬁI@
[RINERIES ] K

I) Ghee / =t

IT) Cheese / 91K

IIT) Tofu / 2%

IV) Vermicelli / 93

V) Khoa / @

Choose the correct answer from the options given below: / 1= &3 T fasredi T &
3l IH ﬂﬁ@:

A)LTMand V/LII 3RV

B) I, Il and 111 / I, 11 3NT 111

C)II, I and IV /11, III ARV

D) 1L, IV and V / IIL, IV 3RV

36 i, are liquid at room temperature. / ............. FI o qTIHE W A
3T | BId g

A) Vanaspati / I

B) Fats / 9491

C) Ghee / =1

D) Oils / da

37. Which of the following indicates poor quality of eggs? / F=fciRaa o & &-
1 37 ol @ TTET I G 82

I) Yolk spread on plate when broken / ZC\E%T T e 9T et STt

IT) Egg float on water / FS YN WA B

111) Brown colour of shell / @ T ‘{U‘C’T HEL
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IV) Small in size / 3TTR H BT BT
V) Foul smell / =1 @11
Choose the correct answer from the options given below: /= fgu T fosremi B
gl Wﬂﬁq:
A)L Il and IV /L, III 3R IV
B)LIland V/L IRV
C) IL, Il and TV / 11, 11T 3R IV
D) IIL IV and V / IIL, IV 3R V

o~

EX:ECIESED

e

38. Shell fishes are rich source of which mineral? / YEaTel! TS
g 91 87

A) Zinc / ISED

B) Sodium / @ifeam

C) Iron / AT

D) Calcium / shfesrm

39. Which of the following should be considered while selecting fresh
vegetables? / ATS Tfestal ol = shd a0y ffetfaa 0 @ forg ot e fem st

Sl

I) Buy seasonal vegetables / et gfsstat gl

I1) Buy moist and dirty vegetables as they are more nutritious / 79 TIT TiaT Gfesrat
IS FITR o 3Ty UIfSeh gl ol

I11) Buy fresh vegetables / ATSiT Afostal @Rila

IV) Buy only what is needed / el I&! @RI I STTEYIH ©

V) Check for expiry and best before dates on cans / 1 TR UE T 3T Haiay
ferfert bt Stf=r shifsig

Choose the correct answer from the options given below: /= feu e foremi T
el 3 El\_)ﬁQ:

A)L Il and IV /1, 111 AR IV
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B) L, I and 11/ 1, I 3T 111
C) 1L, I and IV / I1, 111 3R IV
D) 1L, IV and V / IIL, IV 3RV

40. Given below are two statements: / T & e o T &:

Statement I : Pressure cooking is better for solid vegetables. / I | : 3 gfesra
& TeTQ 9T o 2&Ta g7 YT S8t B

Statement II : Pressure cooking destroys vitamins and minerals of vegetables. /
FHY 1 : 19 h GATE G TohT= H Gfosrl oh [T 3T @S T8¢ 8 I1d &

In light of the above statements, choose the most appropriate answer from the
options given below: / ITYer ST o FehIRT H i< T ferehicdi # & Heil ST I

e

A) Both statement I and statement II are correct. / & [ 3 & 11 SHT T2 2
B) Both statement I and statement II are incorrect. / & [ 3T &Y [ ST 7Toid B
C) Statement I is correct but statement II is incorrect. / Y= [ €&l & Sifeh U 11
T 8l

D) Statement I is incorrect but statement II is correct. / o [ TTedd 2 AR e 11

T 2l

41. Which one of the following is a good source of iron? / F=faIRad & & =iH-4T
T YeTe g ded T =T EId 27

A) Mango / 3™

B) Papaya / 9dTdT

C) Oranges / G

D) Dates / @S
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42. Match List-I with List-II: /€=-1 31 g=-11 & frei shifsie;

List.I / F=fi-1 List-IT / F=A-11
(Milk product) / (331%3?‘1'[&’) (Characteristics) / (félﬁﬂ?lﬁ)
a) Curd / <&l 1) Separated solids from milk / Eflﬁaﬁ'{;[w%f
AT AT
b) Paneer / 9K i1) Fat separated from boiled milk / W:SD’Q‘G:\%I@
JHT AT hIHl
c) Cream / HelTg iii) Concentrated form of milk / G T " TH aTel
319 qaryf
d) Khoa / CIR) iv) Conversion of lactose to lactic acid | AFNST T
ifoeeh 3T | agaH]

v) Rich in Sodium / |feam &t 3Tferehar

Choose the correct answer from the options given below: / EICRECRIDACEI R )

Hﬁﬁ?ﬂﬁ?z

A) a-iii, b-1, c-1v, d-ii
B) a-iv, b-1, c-ii, d-iii
C) a-1, b-1v, c-ii, d-iii

D) a-ii, b-iii, c-1v, d-1

43. Following are the steps involved in sprouting. Arrange them in order: / 33|§@T
o 0T HHTTRI &) 38 Hal 5hH H AT hIfST;

I) Used in salads, chaat / 9<dlq, e H IUINT forar ST

IT) Loosely covered by a damp cloth / &It U< U TH gAT

IIT) Soak whole pulses for few hours / § RN Tl ohl S W%%%Qﬁ?ﬁ%

IV) Allowed to germinate / 3HRd B <
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Choose the correct answer from the options given below: / EIERECRIDACEI R )
el I ﬂﬁQ:
A) IV, I, L II
B) L, II, III, IV
C) ILIIL IV, I
D) 1L II, IV, 1

44. Which of the following are the examples of fruit preserves? | Fefaga B o
- e HETIT o ST &2

I) Jam / LI

IT) Fresh Mango panna / dTSIT 3TH U1

[IT) Banana koftas / ohel o %

IV) Murabbas / qissT

V) Jellies / et

Choose the correct answer from the options given below: /= fgu e fosreai B
gl I %\Lﬁ'Q:

A) LI and I/ 1, 11 3T 111

B) LIVand V/1, IV 3RV

C) I, I and IV /11, 111 3R IV

D) IIL IV and V/IIL, IV 3RV

45. Which one of the following is made by extracting milk juice of some plants?
/ Frreferfiaa 5 @ shiH -8 e forRiy fore o ol @ oo € aTel g s guH W |
ST STTAT 22

A) Cloves (Laung) / @1

B) Asafoetida (Hing) / i1

C) Mace (Javatri) / STTfert

D) Cardamom (Elaichi) / STa=it
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46. Given below are two statements: / T & e o T &:
Statement I : Campa Cola, Limca are examples of carbonated beverages. / I | :
hUT, SR, ToTrehT ST SIS U Tt oh I&TeT &l
Statement II : Carbonated beverages contains carbon dioxide gas. / I 11 :

FIECE U USTAT | hrei SrE3iiaarge i 2l 2|

In light of the above statements, choose the most appropriate answer from the
options given below: / STYe ST o SehIRT H i< T ferehicdi # & Hei U I

e
A) Both statement I and statement II are correct. / s | 3R FHUF 11 ST Tt 2
B) Both statement I and statement II are incorrect. / sh¥ | TR YA 11 ST TTeAd 2
C) Statement I is correct but statement II is incorrect. / ¥ [ Tl 2 AR A 11
T B

D) Statement I is incorrect but statement II is correct. / ¥ [ TTedd 2 AR e 11

T 2l

47. Match List-I with List-II: /€=-1 31 g=-11 & free shifsie:

List-1 /%=1 List-11 / F=A-11
(Beverages) / (ﬁ'q QET%?) (Component) / (8Z<h)
a) Tea / A i) Caffeine / FHH
b) Coffee / T ii) Thiene / foraT
¢) Juices / @ iii) Gas /
d) Banana shake / e T Ik iv) Vitamins / TaeTii
v) Energy / 3l
Choose the correct answer from the options given below: / EIE R RIDACEI R )
el I ?\LﬁQ:

A) a-iii, b-1, c-1v, d-11
B) a-iii, b-1, c-11, d-v
C) a-1, b-1v, c-1i, d-1i1

D) a-ii, b-1, c-1v, d-v
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48. Which of the following will provide quality information of the food
products? / THFITRE H & <hIH-HT W IcdTaT 26T TUTSIT ol ST ST 3l 82
A) Ingredients / ST
B) Certification marks / JHTOTH ER
C) Price /a™H
D) Batch no. / o= TR

49. Match List-I with List-IT: / =fi-1 3T F=-11 # et shifsie;

List-I /%=1 List-I1 / G=ft-11

(Spices) / (AET) (Adulterant) / (firetrere fop3 T

JTel gaTe)

a) Turmeric / gal i) Papaya seeds / 9did o sist

b) Pepper / ot ii) Tamarind seeds powder / SHeAT

EXCIS]

c) Mustard seeds / ol o Sfie iii) Coloured husk / T ‘{Fﬁ

d) Red chilli powder / &TeT firel UT3et iv) Metanil yellow / HTf~et dtetr
v) Poppy seeds / TEEY & SIS

Choose the correct answer from the options given below: EIEREORIDRCE It Rk

il I %\Lﬁ'Q:

A) a-iii, b-1, c-1v, d-ii
B) a-iv, b-i, c-v, d-iii
C) a-i, b-iv, c-ii, d-iii

D) a-11, b-iii, c-1v, d-1

50. Which of the following are advantages of using convenience foods? /
(HTAREd # | -8 Glorersieh e qarei o1 STANT L o BIIe 82

1) Time saving / 99 ehl F<d

IT) Easy to store / R T 3TTEH

[IT) Simple preparation / S § T
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V) Use of additives / TfSfesm st 3=
V) Less expensive/ SH @iall

Choose the correct answer from the options given below: / EICREC RIDACEI R )
el I ﬂﬁQ:

A)LIlland V/L LI 3RV

B) L, Il and I1I / I, 1T 3R 111

C) IL, Il and TV / 11, 11T 3R IV

D) IIL IV, and V /1L, IV, 3RV



